Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)
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Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

N
[

2yMass (GeVp

0.12

[N
D
T

0.13F

400 600
Channel Number

Fit Width vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

=
6]

o

2yWidth (GeVR

0.005
0- PR R R R
0 200 400 600
Channel Number
Pi0 Mass (lteration3)

x10° Entries 7.557951e+08
5500 X2 / ndt.971e+04 / 165
O Prob 0
g)OO:— po 2.442+06

o p1l 0.1345
'g')OO:— p2 0.00778

E p3 1.101e+06
"40?00: p4 0.01513
Eoo'_ p5 -4.706e+07
S E p6 1.299e+07
)00 p7 8.704e+05
O F
2500F
2000F p ),
15005 ——

S PP PR EPRPE APUPETE SPRPEPE SRR B

0.06 008 01 012 014 016 018 0.2

2y Mass (GeV)

Signal to Background

S/B vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

400

600
Channel Number



Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)
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Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)
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2y fit mean vs. lteration 2y fit sigma vs. Iteration 2y fit sigma over mean vs. lteration

.0584

134.5 78

.0583

134

7.78 0582}

).0581

133.5 776

0.058}

133 0579}

7.74

0578}

132.5r —

0577F

0 1 2 3 4 5 0 1 2 3 4 5 0 1 2 3 4 5



o/p vs. Iteration (E1, E2 > 500 MeV) o/p vs. lteration (E1, E2 > 700 MeV)
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3Mass Spectum for final iteration (E1

E2 > 500 MeV)

x10 Entries 2.838474e+08
F X2 / ndf 2.109e+04 / 165
r Prob 0
C Fi - 0, 0 1.612e+06
- Fit o/p =5.581 £ 0.006 % gl 01349
C p2 0.007529
r p3 6.336e+05
r p4 0.01503
- p5 —2.796e+07
- p6 9.425e+06
C p7 —-1.674e+05
_(.-’I#.’: P IR T N T ST SR MR BT R T AR
0.06 0.08 0.1 0.12 0.14 0.16 0.18 0.2
m(2y) [GeV]

3Mass Spectum for final iteration (E1

E2 > 900 MeV)

x10 Entries 3.061757e+07
r X2 I ndf 1e+04 /165
L Prob 0
C Fi = + 0 po 3.207e+05
_Flt o/p =5.072 £ 0.008 % b1 01355
r p2 0.006873
[ p3 1.043e+05
r p4 0.01438
- p5 —3.906e+06
r p6 1.275e+06
- p7 -4.97e+04
C —
e AP PRRPRRI RN RN SAPRTI R R
0.06 0.08 0.1 0.12 0.14 0.16 0.18 0.2

m(2y) [GeV]

3Mass Spectum for final iteration (E1

E2 > 700 MeV)

x10 Entries 8.695094e+07
o X2 / ndf 1.584e+04 / 165
r Prob 0
— Fi = + ") po 7.089e+05
1000[-Fit o/u =5.273 £0.007 % b1 01353
N p2 0.007133
800 p3 2.511e+05
C p4 0.01458
C p5 -1.033e+07
600 p6 3.374e+06
L p7 -1.049e+05
400
200 —
L
o P N P AU PSP EPSPN IR R
0.06 0.08 0.1 0.12 0.14 0.16 0.18 0.2
m(2y) [GeV]
Mass Spectum for final iteration (E1, E2 > 1100 MeV)
x10° Entries 1.182544e+07
220 X2 / ndf 1.338e+04 / 165
200 Prob 0
i = + 0 po 1.083e+05
180 Fit o/p =7.378 +0.000 % b1 01355
p2 0.01
160 p3 8.559e+04
140 p4 0.005359
p5 -2.65e+06
120 p6 8.061e+05
100 p7 -3.912e+04
80
60
40
20 I
0 vl MR VRPN BRI BRI BRI B
0.06 0.08 0.1 0.12 0.14 0.16 0.18 0.2
m(2y) [GeV]




Current iteration (Blue), last iteration (Green), and current ccdb constants (Red)
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